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Discussion Topics
[100e-NR-5G_V2X_NRSL-RA_Mode2-03] Email discussion/approval on the following issues related to SCI indication:
· Time resource signalling
· Frequency resource signalling
· [bookmark: _GoBack]Resource index signalling (backward signalling)
· Period values in the range [1:99]
· Period values used for exclusion once SCI received: actual or all configured
by 2/28; if there is a spec impact, endorsing the corresponding TP by 3/3 – Sergey (Intel)
Discussion Outcome

Proposal 1
1. Time resource assignment in SCI uses an extended time domain RIV mechanism as follows:
if 
 
elseif 
 
else
if 
 
else
 
end if
end if

where
1. N denotes the actual number of resources indicated
1. Ti denotes i-th resource time offset 
1. for N=2,  
1. for N=3, , 
Proposal 2
1. For frequency resource indication, the following resource index calculation is used
0. For Nmax = 2, 
0. 
0. For Nmax = 3, 
1. 
0. where 
2. f2 denotes lowest sub-channel index for the second resource, if any
2. f3 denotes lowest sub-channel index for the third resource, if any
2. m denotes number of sub-channels in a frequency resource allocation
0. If time domain allocation indicates N < Nmax, the decoded lowest sub-channel indexes corresponding to Nmax minus N last resources are not used
Proposal 3
1. Down-select in the next meeting one of the following options 
0. Option 1: There is no separate field in the first stage SCI indicating a resource index for the purpose of backward indication, i.e., backward indication is not supported
0. Option 2: When periodic reservations are enabled in a resource pool, a separate field of 1 bit in the first stage SCI indicates a resource index for the purpose of backward indication
0. Option 3: When periodic reservations are enabled in a resource pool, a separate field of ceil(log2(Nmax)) bit in the first stage SCI indicates a resource index for the purpose of backward indication
Proposal 4
1. On a per resource pool basis, when reservation of a sidelink resource for an initial transmission of a TB at least by an SCI associated with a different TB is enabled: 
0. A set of possible period values additionally includes all integer values from 1 to 99 ms
Conclusion 5
1. Evaluate till the next meeting whether given the agreed set of configurable reservation periodicities, the change to the exclusion procedure is necessary, wherein currently all configured period values are used for exclusion as inherited from LTE

Inputs to Discussion

For time domain indicaiton, there are different proposals in contributions, which can be classified in two different options, as in the following question:

Q1: Which option is preferred for time resource indication?

Proposal
· Option 1: SLIV based encoding procedure
· For Nmax = 2, the value is converted to a single time gap between T0 and T1 resources. If time gap is 0, then there is no second resource
· For Nmax = 3, the value is interpreted same way as SLIV
· The first codepoint corresponds to N = 1 (only current resource T0)
· Other codepoints are composed same way as SLIV by the following re-interpretation
· Start index (S) => first slot index T1 within a window of 31 slots for the second resource
· Length (L) => (second index – first index + 1), i.e. (T2 – T1 + 1)
· Option 2: Combinatorial index -based encoding procedure
· ,
· W = 32
· N denotes the actual number of resources indicated
· Ti denotes i-th slot offset
·  denotes the extended binomial coefficient

	Company
	Comment

	Sharp
	First of all, regarding Option 1, do we understand it correctly that by “SLIV” you mean the following in TS 38.214?
	
if  then


else 



where, and


If so it is unclear how Option 1 here works (at least the constants “7” and “14” should be replaced(?) in which case “SLIV” actually becomes the more general “RIV” for RA type 1 in NR Uu.) 
Our understanding is that Option 1 should be fixed as follows:
For Nmax = 3, code points 0 ~ 31 should be mapped in the same way as for Nmax=2, and for code points >= 32, RIV+32 is used, where RIV comes from RA type 1 with L_RBs ==> T1, RB_start ==> W - 1 - T2, and N_BWP^size ==> W-2.
We also verified the mapping generated by Option 2 and we think it works. We prefer Option 1 (in principle, see above comments for Option 1) though as it is much more intuitive, and it reuses existing building blocks in NR Uu as much as possible. Option 2 is useful/necessary only if N can be a large number. 

Additional comments on Feb 26:
1. As mentioned in our earlier comment, Option 1 is currently not correctly formulated and therefore it seems difficult to make a direct choice between the two. We propose one possible formulation below for which we have verified the mapping. We could be fine with an updated formulation by the feature lead as long as it is still along the line of “SLIV-based” approach and the mapping is verified to be correct.

Proposed formulation of Option 1:
	
Where  is an RIV value assuming  , and 



2. Regarding Intel’s comment, 
· We don’t see any possibility to extend Nmax to a larger value in a future release due to the limitation imposed by 1st-stage SCI size, inter-release compatibility, and the huge impact of such a change to all other mode 2 and even mode 1 operations. 
· Regarding the briefness of the proposals, 
· In our understanding,  is not a common definition in math and thus only works within Option 2. 
· Option 2 uses combinations math and Option 1 only uses a linear sum, so it may not be appropriate to conclude that Option 2 is “brief” in terms of implementation complexity.
3. Regarding Huawei’s comment, for other companies to verify your proposed mapping, could it be first clarified what are the exact definitions of  and ? For example, we can understand that when two resources are indicated, , i.e.  is  as defined by the feature lead. Then when three resources are indicated, why ? (At least  does not seem to make any sense?)
· Assuming  corresponds to the time gap between the first resource and the second resource, and   corresponds to the time gap between the second resource and the third resource (i.e.  and  respectively correspond to  and  as defined by Apple), there seems to be duplicate mappings, e.g.
· For , , TRIV=467.
· For , , TRIV=467.
· Assuming  corresponds to the time gap between the first resource and the second resource, and   corresponds to the time gap between the first resource and the third resource (i.e.  and  respectively correspond to  and  as defined by the feature lead), there seems to be also duplicate mappings, e.g.
· For , , TRIV=466.
· For , , TRIV=466.


	Ericsson
	Option 1

	Intel Corporation
	We prefer Option 2. It is brief, clear and easy to extend if it is needed in future.

	TCL Communication
	Option 1 is OK, and agree with comments from Sharp

	Apple 
	In general, we support combinatorial index-based encoding procedure (Option 2). However, we have a different formula based the time gap between first resource and second resource (), and the time gap between second resource and third resource ().
r =  .
1. , where  indicates the third resource is not reserved.
1. In case , , where  indicates the second resource is not reserved.
1. In case , .
We think this formula is simpler. More details can be found in our contribution R1-2000850.
Additional comments on Feb. 25 following Sharp’s comments:
8. We agree that we do not need to worry about the extension of Nmax to a larger value now, and we want to avoid combinations math in the formula. Note that our proposed formula is much simpler. 
8. As per the comments on  and , we have clear definition and ranges in our proposal above.

	Futurewei
	Both options are equivalent and are agreeable to us. Slight preference for SLIV to keep the spec consistent

	HW, HiSilicon
	The explanation for option 1 is not clear. One should be able to select 1 or 2 resources even though N_max = 3. Therefore, the following correction is needed:

When higher layer parameter maxNumResource is configured to 3, and there is three resources at the most to be indicated, the value of time resource assignment in SCI format 0-1 is equal to the time RIV defined as:
if there is only one resource indicated

elseif there is two resources indicated 
, 
else
If ⌊/2⌋ then

Else

where  is determined by the maximum time duration among the three resources, the value of  is equal to ,  and.


	Qualcomm
	We have a preference towards Option 2

	Samsung
	For Nmax=2, we agree in principle and we need to discuss the clear definition of the values (codepoints). The value of r can be determined as 

For Nmax=3, we prefer Option 2.
For Option 1, it is still unclear how to derive the code point (i.e., r) for the description above. The same equation cannot be used with redefining S and L as above with 9 bits. To conclude this topic, we need a very specific description.

	OPPO
	Preference towards Option 1

	vivo
	We prefer option 1, the interpretation is more clear to us. A minor comment, in the formular for Nmax=3, Length (L) => (second index – first index + 1), we think  the ‘+1’ is not necessary.

	ZTE/Sanechips
	We support Option 1. The SLIV calculation for Nmax=3 is given by:

if  


else 


end if

where ,  S=T1, L= T2 – T1 + 1. 
Here +1 in RIV formula is to accommodate one codepoint for single-attempt transmission.   

	CATT
	We prefer option 1, option 1 has been well used in NR Uu

	MediaTek
	We support Option-1

	Convida
	Generally OK with Option 1

	LG Electronics
	We prefer Option 1 with clarifying the following details. Note that T-RIV = 0 and T-RIV > 0 correspond to N = 1 and N > 1, respectively. Also  and  correspond to S (i.e., T1) and S+L-1 (i.e., T2), respectively.

	For time resource assignment, when  is 3,

· For T-RIV = 0, 
· For T-RIV >0,  and  are determined from T-RIV value
· if  then
· T-RIV 
· Else
· T-RIV 
where  and 


   

	InterDigital
	Option-1



Based on comments, there is a majority for Option 1 direction. However, as pointed out by Sharp and other companies, Option 1 needs to be fixed since current SLIV formulation in 38.214 cannot be directly reused. Thus, a fixed Option 1 is proposed as follows:

Updated proposal
· Time resource assignment in SCI uses an extended time domain RIV mechanism as follows:
if 
 
elseif 
  
else

  
if 
	 
else
	
end if
end if

where
· N denotes the actual number of resources indicated
· Ti denotes i-th resource time offset



For the frequency resource signalling, RIV/SLIV approach cannot be reused. Contributions, which made concrete proposals, mostly used combinatorial index through possible combinations of one bandwidth and two starting positions. Looking into proposals, suggestion from Sharp and LGE looks most concise in terms of specification, and thus used for formulating the proposals in the next question.

Q2: Is the following frequency resource indication agreeable?

Proposal
· For frequency resource indication, the following resource index calculation is used
· For Nmax = 2,
· .
· For Nmax = 3,
· 
· where
· f2 denotes frequency position for the second resource, if any
· f3 denotes frequency position for the third resource, if any
· m denotes number of sub-channels in a frequency resource allocation

	Company
	Comment

	Sharp
	Fine with the proposal.

Additional comments on Feb 26:
1. Regarding Apple’s comment, since the value of N is already indicated by the time resource indication, it is really not necessary to define multiple mappings depending on the value of N. The UE knows exactly whether f2 and/or f3 exists or not.
2. Regarding Huawei’s comment, 
· Yes, RIV-based approach can be reused for Nmax=2, but for Nmax=3 there is no such “RIV” definition in the spec that can be “reused”.
· In our view, “the value of any FRIV is always smaller than the total number of code-points  for a given total number of sub-channels ” is not an “advantage”, but a requirement. Proposals not fulfilling such a requirement should not be considered at all. In our understanding, for any proposal, a “correct” mapping should ensure:
· If the total number of code points is X, then the code points used in the mappings should be {0, 1, …, X-1}.
· The mapping should be one-to-one, i.e. no duplicate mappings.
· Although the calculation is very simple and we assumed companies had verified the mappings when reviewing the tdocs, we are fine to share our own verification results (for the proposal from feature lead), assuming N_subChannel=7.
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	Ericsson
	Yes

	Intel Corporation
	Yes, we agree with proposal

	TCL Communication
	Agreeable. 
Note: it would be good to clarify what value are taken for f2 or f3 when N<Nmax.

	Apple
	Support the proposal in general with the following modifications:
1. The range of  and  may be provided as [0, ]. 
2. It is preferred to switch the order between  and  in the formula for Nmax=3.
3. The condition Nmax=2 or Nmax=3 should be replaced by N=2 or N=3, where N is the actual number of reserved resources. Note that if Nmax=2, N could be 1 or 2; If Nmax=3, N could be 1 or 2 or 3. The value of N is determined by time resource indication value. Subsequently, the case of N=1 should also be provided, i.e., “For N=1, r=m-1”.

Additional comments on Feb. 25 following Sharp’s comments:
1. We agree that the actual number of reserved resources N can be obtained from time resource allocation. 
2. In the current formula, in case of Nmax =2 and N =1, the value of f2 is undefined; in case of Nmax=3 and N=1 or N=2, the values of f2 and f3 are undefined. It can be argued that any possible values of f2 and f3 can work. However, that leads many-to-one mapping on the frequency resource indication. 
3. To be exact, our proposal is based on N, which is obtained from time resource allocation. 
a. N=1, r = m-1
b. N=2, r = .
c. N=3, 
This approach has no ambiguity on the value of f2 and f3 if they do not exist.  It is clearly one to one mapping on the frequency resource indication. More details can be found in our contribution R1-2000850.

	Futurewei
	OK

	HW, HiSilicon
	Disagree that RIV/SLIV approach can not be reused. Besides, in order to compare the results of all the proposed schemes by different companies, we think a table which shows the values of encoded frequency resource indications similar to the Tables below should be provided by the various proponents.

When the value of the higher layer parameter maxNumResource is configured to 2, LTE-V RIV can be reused for frequency RIV for NR V2X as following
if  then
 
else 

An example for  when maxNumResource =2 is shown in Table 1:

Table 1: FRIV for indication of one frequency resource with   and 
[image: ]

When higher layer parameter maxNumResource is configured to 3, the value of frequency resource assignment in SCI format 0-1 is equal to the frequency RIV defined as:
if (  then
FR
else
F
An example for  when maxNumResource =3 is shown in Table 2:

Table 2: FRIV for indication of two frequency resources with        and  
[image: ]

One advantage of the proposed  frequency resource indication is that the value of any FRIV is always smaller than the total number of code-points  for a given total number of sub-channels . For example , the value of FRIV in Table 2 is smaller than the total number of code-points 140 for 


	Qualcomm
	We’re ok with the proposal

	Samsung
	An alternative solution is:
· For 2 reserved resources: Use the frequency resource allocation method, based on RIV, for uplink resource allocation type 1, as described in section 6.1.2.2.2 of 38.214.
· For 3 reserved resources: Organize the code-points in groups, each of size 2+1, where  is the total number of sub-channels. For algorithm details please refer to section 2.7 of R1-2000615.

The benefit is to reduce the decode complexity of the code points i.e. determining the value of m, f_2 and f_3 from the received code point value. With 3 reserved resources, this is straight forward as the code points are organized in groups each containing 2+1 code points. From the received code-point value, it is straight forward to determine a group of 2+1 values, and an index within the group (using a divide and modulo operator). Then based on a simple algorithm it is possible to determine m, f_2 and f_3.

	Vivo
	Generally fine w/ the proposal. We also think it is necessary to limit the range of  and  as proposed by Apple.  

	ZTE/Sanechips
	Yes. We support the proposal. 

	CATT
	We are fine for the proposal.

	MediaTek
	Agreeable.

	Convida
	OK with the proposal

	LG Electronics
	For NMAX = 2, our preference is to reuse RIV of LTE V2X.
For NMAX = 3, we are fine with FL’s proposal, if the terms of is skipped in case of m = 1.

	InterDigital
	OK with the proposal



For frequency domain indication, it seems the original proposal is almost stable with expressed majority. The main counter proposals seem either less clear/concise or do not comply previous agreements. It is also understood that if time domain allocation indicates n < Nmax, the decoded frequency indexes corresponding to Nmax – n last resources are not used.

Updated proposal
· For frequency resource indication, the following resource index calculation is used
· For Nmax = 2,
· .
· For Nmax = 3,
· 
· where
· f2 denotes frequency position for the second resource, if any
· f3 denotes frequency position for the third resource, if any
· m denotes number of sub-channels in a frequency resource allocation
· If time domain allocation indicates N < Nmax, the decoded frequency indexes corresponding to Nmax – N last resources are not used


Since it was agreed that LTE-like semi-persistent reservations are used, many companies propose to introduce a resource index signalling for the purpose of backward indication (indication to past). The main difference to LTE is additional handling of Nmax = 3 case, where it needs to be decided how time resource indication is re-interpreted.

Q3: Is the following proposal agreeable?

Proposal
· When periodic reservations are enabled in a resource pool, a separate field in the first stage SCI indicates resource index from 0 to Nmax – 1
· For Nmax = 2, for time gap ‘t1’ between first resource and second resource after decoding of time resource indication, the resource index value:
· ‘0’ means the gap ‘t1’ is positive
· ‘1’ means the gap ‘t1’ is negative
· For Nmax = 3, for time gap ‘t1’ between first resource and second resource, and time gap ‘t2’ between the first resource and the third resource after decoding of time resource indication, the resource index value:
· ‘0’ means the gaps ‘t1’ and ‘t2’ are positive
· ‘1’ means the gap ‘t1’ is negative and the gap ‘t2’ is positive
· ‘2’ means the gaps ‘t1’ and ‘t2’ are negative


	Company
	Comment

	Sharp
	Although we don’t have a strong opinion here, we don’t think this is strictly necessary. Even with only positive t1 and t2, periodic reservations can be indicated e.g. by a different SCI.

	Ericsson
	We are fine with the proposal but suggest limiting the SCI impact to 1 bit (leaving out option ‘2’ for Nmax = 3).

	Intel Corporation
	Agree with proposal. It is consistent with LTE-V2X framework and should be supported for NR-V2X. Suggest to extend signalling for aperiodic processes that can be used as an indication of HARQ process termination.

Correction:
1. For NMAX = 3 we believe the following correction is needed “and time gap ‘t2’ between the first second resource and the third resource after decoding of time resource indication, the resource index value”

	TCL Communication
	Agree with the proposal

	Apple
	We need to first discuss whether backward indication is applied. If it is applied, then the proposal is agreeable to us. Otherwise, we do not need to include the resource index value in SCI.

	Futurewei
	Agree with the proposal. This is the same principle as for LTE-V

	HW, HiSilicon
	The determination of slots and resource blocks for PSSCH transmission should follow the principle of LTE. Therefore, for N_max = 3, it is preferable to define the gap ‘t1’ between the first resource and second resource, and time gap ‘t2’ between the first resource and the second resource (rather than the first and third resource), and the indication of the duration of the one or two time gaps should be direct, not only whether positive or negative

	Qualcomm
	We don’t think backward indication is needed.

	Samsung
	If we define t1 and t2 negative, then this affects time domain resource allocation.
So it’s better to define t0, t1, t2 as 
1. t0=0 – indicating the slot for the first resource, 
1. t1 – gap between the first and the second resources, and 
1. t2 – gap between the first and the third resources.
Then, the receiver can be aware of the slots for the first/second/third resources by using t0, t1, t2 and the slot having the detected SCI.
In addition, we think that ‘Nmax’ should be ‘N’ in the proposal above where N is the number of actual selected resources.
With modification as we suggested, we can support this proposal. 

	OPPO
	Not needed

	vivo
	Negative on backward indication. Not sure about the benefit, not worth to cost additionally signalling overhead in 1st SCI. 

	ZTE/Sanechips
	We do not support the proposal. We do not see the necessity to have negative t1 and negative t2, which also introduce additional signalling overhead. 

	CATT
	Agree with the proposal

	MediaTek
	Backward indication is not needed.

	Convida
	OK with the proposal, but prefer 1 bit in 1st SCI.

	LG Electronics
	In case when FL’s proposal is intended to the following operation, we are fine with it. To be specific, t1 and t2 will be derived by “Time Resource Assignment” field in 1st sage SCI, and the reference point of t1 and t2 is the end of first resource (i.e., t1 is always smaller than or equal to t2) .
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	InterDigital
	We don’t support this proposal



It seems it is almost equal distribution of companies supporting this or agreeing with this direction, and companies who don’t think it is needed. It is FL understanding, that the agreed semi-persistent periodic reservation would not work properly (i.e. would not achieve LTE V2X performance). Thus, in spirit if reusing LTE for the case of semi-persistent reservations as per agreements in R1#99, it is proposed to take a working assumption for this issue with necessary changes highlighted by some companies. Further, it is proposed to leave up to editor, whether the description is in terms of the gaps between neighbouring resources or the gaps counted from the first resource.

Updated proposal to be taken as a WA
· When periodic reservations are enabled in a resource pool, a separate field in the first stage SCI indicates resource index from 0 to Nmax – 1
· For Nmax = 2, for a time gap t1 between the first resource and the second resource after decoding of time resource indication, the resource index value:
· ‘0’ means the gap t1 is positive
· ‘1’ means the gap t1 is negative, i.e. counted back from current resource
· For Nmax = 3, for a time gap t1 between the first resource and the second resource, and a time gap t2 between the second resource and the third resource after decoding of time resource indication, the resource index value:
· ‘0’ means the gaps t1 and t2 are positive
· ‘1’ means the gap t1 is negative and the gap t2 is positive
· ‘2’ means the gaps t1 and t2 are negative
· Note: it is up to the editor whether to implement in terms of the gaps between neighbouring resources or the gaps counted from the first resource



Q4: Which period values in the range of [1:99] are supported?

	Company
	Comment

	Sharp
	We think it is OK to just use 1:99 as it is, to allow full flexibility in configurations.

	Ericsson
	All

	Intel Corporation
	We are fine to confirm any value from the set assuming it is configurable

	TCL Communication
	It’s OK to support all 1:99 values. We are also OK to reduced number of values (total number of 32 or 64 instead of 110 for overhead reduction).

	Futurewei
	We do not really see the need to put any limitation here

	HW, HiSilicon
	All the period values in the range [1:99] can be supported by the configuration of the corresponding higher layer parameter.

	Qualcomm
	All values can be supported if over-exclusion is addressed in Q5

	Samsung
	We prefer to support 20 and 50 only like in LTE V2X since we cannot find strong motivation to introduce other values

	OPPO
	All period values in the range of [1:99] should be made possible. The exact choice of reservation period within the value range of [1:99] should be left to (pre-)configuration decision during the actual deployment. To allow full flexibility of choice, neither RAN1 or RAN2 need to make any down selection in the specification.

	vivo
	Fine to leave the values configurable from 1:99

	ZTE/Sanechips
	It seems no harm to support all in 1:99. 

	CATT
	We share same views as Samsung, at least 20 and 50 shall be support in the period values.

	Convida
	Support [1:99]

	LG Electronics
	When discussing this issue, it needs to be clarified what maximum size is assumed for “Resource Reservation Period” field in 1st stage SCI. Note that in LTE V2X, the relevant field size is 4 bits, and the same size can be kept even for NR V2X considering 1st stage SCI performance and sensing accuracy. However, if all the candidate values in [1:99] are supported in addition to 11 values agreed in the previous meeting, the maximum size of “Resource Reservation Period” field will be 7 bits. From our perspective, this is not desirable direction. Furthermore, adding unnecessary period values (e.g., 1) should be avoided considering the possible impact on resource exclusion procedure as explained in Q5. In summary, we think that at least 20/50ms (already supported in LTE V2X) can be adopted. 



The majority indicates no issue in supporting any value in range from 1 to 99 ms. However, as pointed out by LGE, the SCI field should still contain a limited set e.g. 16 values, as in LTE, that is however already agreed:

Proposal
· On a per resource pool basis, when reservation of a sidelink resource for an initial transmission of a TB at least by an SCI associated with a different TB is enabled: 
· A set of possible period values additionally includes all integer values from 1 to 99 ms



Q5: Related to Q4, when a set of allowed period values is configured, whether all configured period values are used for exclusion once SCI is received or only the value signalled in this SCI?

If yes, 38.214 needs to be updated as follows:
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	Company
	Comment

	Sharp
	In our understanding, the current text in 38.214 is more aligned with LTE V2X and hence no need to change.

	Ericsson
	All configured values like in LTE

	Intel
	Agree with proposal

	TCL Communication
	Exclusion shall concern all configured values.

	Apple
	All configured period values are used for exclusion. 

	Futurewei
	The text in 38.214 is what was done for LTE-V. While using only one periodicity may be beneficial, more evaluations would be required to clearly assess the benefits.

	HW, HiSilicon
	We think there is no need for this proposal. The period values used for exclusion in step 5 can reuse LTE-V scheme. The exclusion of all the potential resources would not lead to over excluding resources since the threshold can be adjusted if the remaining candidate resources is less than 20%.

	Qualcomm
	We agree with the proposal.

Without a change, an excessive number of resources could be excluded based on the configured period set. 

For example, if [5, 8, 9, 11, 12] is the set of configured period values, then slots at the following times would be excluded [5    8    9   10   11   12   15   16   18   20   22   24   24   27   32   33   36   36   44   48…] This becomes worse if additional period values are configured.

LTE V2X had this issue, but it was not as severe as the case here due to the limited set of period values.

	Samsung
	We think that only the value signalled in SCI format (Prsvp_TX) should be used. So we agree with the TP above.

	OPPO
	Only the period value signalled in the SCI and the update to 38.214 is needed.

	Vivo
	We prefer to reuse LTE behaviour, i.e., use all configured value for resource exclusion

	ZTE/Sanechips
	Agree the proposal.

	CATT
	We prefer to reuse LTE behaviour, and it is not necessary for this proposal.

	MediaTek
	We prefer exclusion of all configured period values. No need for this TP.

	Convida
	Agree with the proposed TP

	LG Electronics
	Our preference is using all (pre)configured period values for exclusion.

	InterDigital
	We support this proposal with the similar reason explained by Qualcomm



There is slight majority for not updating currently specified behavior. Potentially, it can be left for the next meeting to evaluate according to additional agreed periods, and conclude about this CR.

[bookmark: _Hlk33661509]Conclusion
· Evaluate till the next meeting whether the change is required
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-begin change proposal for 38.214--

8.1.4 UE procedure for determining the subset of resources to be reported to higher
layers in PSSCH resource selection in sidelink resource allocation mode 2

<<<unchanged text omitted>>>

The sensing window is defined by the range of slots [11 - Ty, = Tyq.0) Where T is defined above and Ty, is
TBD. The UE shall monitor slots which can belong to a sidelink resource pool within the sensing window
except for those in which its own transmissions occur. The UE shall perform the behaviour in the following
steps based on PSCCH decoded and RSRP measured in these slots.

3) The internal parameter Th(p,) is set to the corresponding value from higher layer parameter SL-
ThresRSRP_pi_pj for p; equal to the given value of priory and each priority value p; |

4) The set S, is initialized to the set of all the candidate single-slot resources.
5) The UE shall exclude any candidate single-slot resource Ry, from the set S, if it meets all the following
conditions:

- the UE has not monitored slot 5" in Step 2.

- for any periedicity value allowed by the higher | for FaserY Perioddliowed and

hypothetical SCI format 0-1 received in slot £ with "Resource reservation period” field set to Py, x
that perlodicity-value and indicating all subchannels of the resource pool in this slot, condition ¢ in step 6
‘would be met.

end change proposal for 38.214-
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